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def calculate_circle_area(r, pi):
return r ** 2 * pi

| : calculate_circle_area

0
o O47HEHZ - 1, pi

o ex.f(x)=x+1 - f(1)=2
o g f(x)0llA X0l 10] S0{7}H 27} BretE|= A
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def calculate_rectanlge_area(x,y):
return x * vy

rectangle_x = 10
rectangle_y = 20

print ("AFZFS x| Z0|:", rectangle_x)
print("AFZE yo| Zo|:", rectangle_y)

#50|ETSI= =F

i=E
print ("AtZf&el Hol:", calculate_rectangle_area(rectangle_x, rectangle_y))
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f(x)=2x+7, g(x) =x?0|1 x =2 O
f(x) +9(x) + f(g(x)) +g(f(x)el 22

f(2) =11, g(2) =4, f(g(x)) =15, g(f(x)) =121

~11+4+15+121 =151
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o f(x) 2t g(x) ZEE EH

def f(x):
return 2 * x +7

def g(x):
return x ** 2

X =2
print(f(x)+ g(x) + f(g(x)) + g(f(x)))
#151

o

f(x) » 11
g(x) - 4

f(9(x)) - 15
9(f(x)) — 121
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o Of7HH 4 (parameter)
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o MAX

o Ql&(argument)
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def f(x):
return 2*x + 7

print(f(2))
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o return B0 AFE X, Of7H

gle_area():

print(5 * 7)

def a_rectan

gle_area()

a_rectan

#35
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v 0§74

gle_area(x,y):

print(x * y)

def b_rectan

gle_area(5,7)

b_rectan

#35

o ORMIIX|Z B4= nonel 2 X|&HE

o LHE gt print()7t A& E A

gle_area():

return(5 * 7)

def c_rectan
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print(c_rectangle_area())

#35
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o return 2OZ 352 X|HEl

gle_area(x, y):

return(x * vy)

def d_rectan

print(d_rectangle_area(3, 5))
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gle_area(3, 5)

d_rectan

result

<

jol

Khu
1of

<+
Tl

def f(x):

X
5

return x*y

Y
X

print(f(x))

#9

print(x)
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o X|¥ #H4=(local variable): &4 LHE

o M9 H4(global variable): T2 M A|

def test(t):

print(x)

20
print('in function

i, t)

#10

© 20

#in function

1Y, X)

print('in main

#10

)

print('in main

#error

o test(x)2l x
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Traceback (most recent call last):
File “"scoping_rule.py", line 9, in <module>
print("In Main:", t)

NameError: name 't' is not defined

o X|™ 4 (local variable)

def f():
s = 'I love London'
print(s)

s = 'I love Paris'
()

#I love London

print(s)
#I love Paris

o SYots7t OtLl LHE HIE2| FAZ JHE M2 THE HE

= ‘| love Paris’2 sgt2 HES T L2 ‘I love London'0| £ &
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(global variable)

#ote Fel
def add(x,y):
total = x + y #total -> X|gH$
print('in function')
print('a:',str(a), "b:", str(b), "a + b:", str(a + b), "total:", str(total))
return total

#MY #Ha Mo a, b, total

#89| B AR X

print('in program -1')

print('a:',str(a), "b:", str(b), "a + b:", str(a + b))
#Holst &4 A8
sum = add(a,b)

print("After Calculation")

printC'Total', str(total), " Sum:", str(sum))
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In Program -1
a:5bh:7a+b:12

In Function
a:5b:7a+b:12 total: 12
After Calculation

Total : @ Sum: 12
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o n!
o nl=nx(n-1)!

IER F#8dl?

def factorial(n)

if n == 1:
return 1
else:
return n * factorial(n - 1) #X¥

print(factorial(int(input("Input Number for Factorial Calculation:

A3 ot

Input Number for Factorial Calculation: 5
120

A oy

5 * factorial(5 - 1)

=5 *4 * factorial(4 - 1)
=5*4 %3 * factorial(3 - 1)
=5*4 %3 %2 xfactorial(2 - 1)
=5*x4 %3 x2 %1

"))
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def print_name(my_name, your_name):
print("Hello {0}, My name is {1}".format(your_name, my_name))

print_name(’kyuree', "TEAMLAB")
#Hello TEAMLAB, My name is kyuree

print_name(your_name = 'TEAMLAB', my_name = 'kyuree')
#Hello TEAMLAB, My name is kyuree

e print_name(kyuree', "TEAMLAB")
o ‘kyuree’ -~ my_name

o ‘TEAMLAB’ - your_name

e print_name(your_name = 'TEAMLAB', my_name = 'kyuree')
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def print_name_2(my_name, your_name = "TEAMLAB")

print('Hello {0}, My name is {1}'.format(your_name, my_name))

print_name_2("kyuree", "TEAMLAB")
#Hello TEAMLAB, My name is kyuree
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print_name_2("kyuree")
#Hello TEAMLAB, My name is kyuree

o def print_name_2(my_name, your_name = "TEAMLAB"):
o your_name O{7HH==0f| 7|22t2 2 ‘TEAMLAB' X
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def asterisk_test(a,b, *args)
return a + b +sum(args)

print(asterisk_test(1,2,3,4,5))
#15

o 1,2
o LIHX|E *argsZ A 23

o 3,45
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e *args - **kwargs

def kwargs_test(**kwargs):
print(kwargs)
print("First value is {first}".format(**kwargs))
print("Second value is {second}".format(**kwargs))
print("Third value is {third}".format(**kwargs))

kwargs_test(first =3, second =4, third = 5)

. Y o

{'first': 3, 'second': 4, 'third': 5}
First value is 3

Second value is 4

Third value is 5

print(kwargs)

o 719 9la x|

= kwargs_test(first =3, second =4, third = 5)
o {first’ :3, ‘second “: 4, ‘third:": 5}
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